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Two-sample t test with equal variances

Group Obs Mean Std. Err. Std. Dev. [99% Conf. Interval]

=B ‘ 609 8.392447 .6352717 15.67719 6.7509473 10.03395

o4 553 15.10398 1.073851 25.252673 12.32833 17.87963

combined 1162 11.58649 .6175481 21.05105 9.993171 13.17981

diff -6.711532 1.22127 -9 .862499 -3.560564

diff = mean(HB ) - mean(¥ ) t = -5.4955

Ho: diff = 0 degrees of freedom = 1169
Ha: diff < 9 Ha: diff != Ha: diff > ©

Pr(T < t) = 0.0000 Pr(IT|] > |t]) = ©.0000 Pr(T > t) = 1.0000
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Two-sample t test with unequal variances
Group | Obs Mean Std. Err. Std. Dev, [ 99% Conf. Interval]
5 | 609 8.392447 .6352717 15.67719 6.750943 10.93395
24 553 15.10398 1.073851 25.25263 12.32833 17.87963
combined 1162 11.58649 .6175481 21.05105 9.993171 13.17981
N —_ —_ —_
diff -6.711532 1.247688 -9.932144 -3.49092
diff = mean(B ) - mean(%&) t = ~5.3792
Ho: diff = © Welch's degrees of freedom = 906.557
Ha: diff < © Ha: diff != 0 Ha: diff > ©
Pr(T < t) = ©0.0000 Pr(IT| > [t]) = 0.0000 Pr(T > t) = 1.0000
= o |
*x 3 BRBEBIEEMEEN Levene BRE
Variance ratio test
Group Obs Mean Std. Err. Std. Dev. | 99% Conf. Interval]
5 | 609 8.392447 .6352717 15.67719 6.750943 10.03395
=4 553 15.10398 1.073851 25.25263 12.32833 17.87963
combined 1162 11.58649 .6175481 21.65105 9.993171 13.17981
o — —
ratio = sd(8 ) / sd(%&) f = 0.3854
Ho: ratio = 1 degrees of freedom = 608, 552
Ha: ratio < 1 Ha: ratio != 1 Ha: ratio > 1
Pr(F < £) = 0.0000 2*Pr(F < £) = ©0.0000 Pr(F > £) = 1.0000
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